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>> wavetable(:,1)=a;

>> wavetable(:,2)=d;

>> wavetable(:,3)=s;

>> wavetable(:,4)=r;

>> len=length(wavetable(:,1));

>> for i=1:4,

subplot(1,4,i); plot( o ______ ); xlim([1 len]); ylim( ________ )
end
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function env = ADSR2(format, fs)

Y%ADSR2 ADSRO D00 O0O0ODODOOOODOOOOOOD
%format 0O OO0 OO0

% [ attack _time () attack _level (1 .
% decay _time () decay _level (1.0
% sustain _time () sustain _level (
% release _time (0O) 0]
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% 000000000000 0O0DOoO0O0ooOoOoOooOo

% 000000000000 00000O0

%attack , decay D0 OO0 O0O0Oooooooooooooao
%00000000000000

%fs 0O0OODOO0OO00O00OO(H)
dur = sum( _________ ), WADSRO OO ODODODODOODOOO(O)OOO
len = length(0:1/fs:dur);

= zeros( _---_______ ), O0OOOoDoOoooooooooao

start = fin;
range = floor(  ___________________ );
fin = start + range;
env(start:fin) =  ______ S (S, - ____) * (v
amp = ________________ ;
end
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function wave = wavetable _synthl(table, format, fs)
YWAVETABLESYNTH1 wavetable ooooooooboao
%table O OO0OO0ODOOOODODOOOOOODO

%ADSRO O OO ODoooooDoDoDoDoDooooad
%format OO O0O0OOO
% [ attack _time (0O) attack _level (1.0 00000000OO0)
% decay _-time () decay level (1.0 0000O0O0OOOY;
% sustain _time (0O) sustain _level (1 .00 00000000)
% release _time (0O) 0]
tau = length(table); % 00000000 o0ooooo
ovlp = 5; %OO00OD0oooooooooooo(ooooooao)
wsize =  _________________ ;% 00000000
t= ;% 0000000000000 0000O0O0O0O0)
iwin =t ______________ 0000000000000
dwin = ______________ ; % 00000000 0O0DOoOoao
dur = ____________ ;
len = dur = fs; %O 0 O000O(C0OO)
pts = floor(format(:,1) * fs/tau); %ADSRO O ODODODODODOOOO
pts = pts - [1; repmat(2,size(format,1)-2,1); 1] * (ovlp - 1) / 2 %Oo00000o0oooooo
wave = [;
for = _________________ ,

wave = [ _______ ; repmat(table(  ______ ) P ,1);

repmat( ________ e A). o+ o +repmat( ________ e 1), *i _win];

end
wave = [ ______ ; repmat(table(:,4), . _____ D);

if length(wave) >len, % 0O 0O 0O 0O O
wave = wave(l:len+l);

else
wave(len+1) = 0; % 000000000000 oOODOO
end
wave = wave . * ADSR2(format,fs)
end

dbobooobdbtaple 0000000000 OOOOOO0ODOODOOOOOOOOODOODOOOOON
gbooobOobooooboooooon




